
 

SIMPLE INTEREST TEST 
 

1. Mala invested Rs. 5,000 for two years at 11% per annum. Find the total 
amount received by her at the end of 2 years. 
khyh Mz;bw;F 11% tl;b tPjj;jpy; & 5>000 I ,uz;L Mz;LfSf;F 
KjyPL nra;fpd;whh;. ,uz;lhk; Mz;bd; Kbtpy; mth; ngWk; nkhj;jj; 
njhifiaf; fhz;f.  
a. Rs. 5,100  b. Rs. 6,200  c. Rs. 6,100  d. Rs. 5,200  
 

2. A certain sum of money amounts to Rs. 6,372 in 3 years at 6% on simple 
interest. Find the principal.  
xU Fwpg;gpl;l njhifahdJ 6% jdptl;b tPjj;jpy; 3 Mz;Lfspy; & 

6,372 MfpwJ vdpy; mriyf; fhz;f.  
a. Rs. 5,000  b. Rs. 4,500  c. Rs. 5,400  d. Rs. 4,000 

 
3. A certain sum of money amounts to Rs. 8,880 in 6 yrs and Rs. 7,920 in 4 

years respectively. Find the principal 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; ì 8,880 MfTk; 4 Mz;Lfspy; ì 

7,920 MfTk; khWfpwJ vdpy; mriyf; fhz;f.  
a. Rs. 12,000  b. Rs. 6,880  c. Rs. 6,000  d. Rs. 5,780 

 

4. At what rate of interest a sum of money doubles itself in 10 years in simple 
interest? 
xU njhifahdJ jdptl;b Kiwapy; 10 tUlj;jpy; ,ul;bg;ghf Mf tl;b 
tPjk; vd;dthf ,Uf;f Ntz;Lk;? 
a. 10%   b. 20%  c. 50%  d. 25% 

 

5. Simple interest on a certain sum in 
16

25
of the sum. The rate percent, if the 

rate percent and time (in years) are equal, is 

xU njhiff;fhd jdptl;bahdJ mj;njhifapd; 
16

25
klq;fhf cs;sJ.  

NkYk; tl;bahdJ fhy mstpw;F rkkhf ,Ue;jhy; me;j tl;b vt;tsT? 

a. 6%   b. 8%   c. 10%   c. 12% 



 
6. Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months. 

�7,500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdp tl;biaf; 
fhz;f         
a. Rs. 600  b. Rs. 700  c. Rs. 800  d. Rs. 900 

 
7. The Simple interest on a certain sum for 3 years at 14% per annum is Rs. 

235.20. The sum is?  
xU njhifapd; jdp tl;b 3 Mz;LfSf;F &.235.20 NkYk; tl;b tPjk; 

14% vdpy; mj;njhifapd; kjpg;G? 
a. Rs. 480  b. 560  c. 650   d. 720  
 

8. The simple interest  on Rs.68,000 at 
2

16
3

% per annum for 9 months 

Mz;Lf;F 
2

16
3

% tPjk; 68>000f;F 9 khjj;jpw;fhd jdp tl;bahdJ  

a. Rs.1, 200  b. Rs. 8,050  c. Rs. 8,500  d. Rs. 1,020 
 

9. The simple interest on a sum of money will be Rs. 200 after 5 years. In the 
next 5 year principle amount is tripled. What will be the total interest at 
the end of the 10th year 
xU njhiff;fhd jdp tl;bahdJ 5 tUlj;jpy; & 200 milfpwJ. mLj;j 
5-tUlj;jpy; KjyPl;L njhifahdJ 3- klq;fhfpwJ vdpy; 10-tUl Kbtpy; 
fpilf;Fk; nkhj;j tl;b njhif vt;tsT?  
a. ì 800   b. ì 650   c. ì 700  d. ì 600  

 
10. If a certain sum at a certain rate of simple interest amounts to  3,810 in 3 

years and  4,890 in 7 years, then the sum and rate of interest are 
xU njhif jdp tl;bg;gb &. 3>810-I 3 tUlj;jpYk; &. 4>890-I 7 
tUlj;jpYk; tl;bAld; nfhLf;fpwJ. vdpy; mry; kw;Wk; tl;b tPjkhdJ. 
a. ( 3,000 & 3.5)  b. (4,000 & 9)    c. (4,000 & 4.5)       d. (3,000 & 9)   

 
11. A sum of money triples itself at 8% per annum over a certain time.  The 

time taken is 
xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W 
klq;fhFtjw;F gpbf;Fk; fhyk;  
a. 20 years           b. 22 years     c. 25 years    d. 30 years. 
 

12. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%.  Find the 
principal  



xU Fwpg;gpl;l njhifahdJ 8% tl;b tPjj;jpy; 5 Mz;Lfspy; &.10>080 
MfpwJ. mriyf; fhz;f. 

a. Rs. 7,200  b. Rs. 7,000  c. Rs. 7,300  d. Rs. 6,200 
 

13. If simple interest for a sum of Rs 3100 for 4 years is Rs 40 more than the 
simple interest of Rs 2900 for the same duration at the same rate of interest 
then the rate of interest is 
&. 3>100 f;F 4 tUlq;fSf;F Fwpg;gpl;l tl;b tpfpjj;jpy; tUk; jdptl;b 
&. 2>900 f;F mNj fhyj;jpw;F mNj tl;b tpfpjj;jpy; tUk; jdptl;bia 
tpl &. 40 mjpfkhf cs;sJ vdpy; tl;b tpfpjkhdJ 

a. 2%  b. 5%   c. 8%   d. 10% 
 

14. Mr. X borrowed Rs.5,000 – on 7th of June 2006 and returned it on 19th 
August 2006.  Find the amount he paid, if the interest is calculated at 8% 
per annum  
jpU X vd;gth; 7.6.2006 md;W ` 5>000I fldhfg; ngw;W mij 19.8.2006 

md;W jpUk;g nrYj;jpdhh; Mz;bw;F 8% tPjk; tl;b fzf;fplg;gl;lhy; 
mth; nrYj;jpa njhif vt;tsT? 

a. `5140   b. `5080  c. ` 5210  d. `5280 
 

15. A sum of money triples itself at 20% interest per annum, over a certain 
time.  Find the number of years. 
xU Fwpg;gpl;l mryhdJ 20% Mz;L tl;b tPjj;jpy; vj;jid Mz;Lfspy; 
%d;W klq;fhFk;? 

a. 10 years  b. 20 years  c. 25 years  d. 15 years 
 

16. Find simple interest on Rs. 10,950 for 42 days at 10% p.a. 
&.10>950 vd;w mrYf;F 42 ehl;fspy; Mz;bw;F 10% jdptl;b Kiwapy; 
fpilf;Fk; tl;b vt;tsT? 

a. Rs. 116  b. Rs. 74  c. Rs. 126  d. Rs. 108 
 

17. Vishal deposited Rs.200 per month for 5 years in a recurring deposit 
account in a post office. If he received Rs. 15,660. Find the rate of interest 
tp~hy; xt;nthU khj Jtf;fj;jpYk; &.200 I Xh; mQ;ryfj;jpy; 5 
Mz;LfSf;F nrYj;jp te;jhh; Kbtpy; mth; &.15>660 ngw;whh; vdpy; tl;b 
tPjk; vd;d? 

a. 12%         b. 5%   c. 10%       d. 9% 
 

18. A man invested 
1

3
 of his capital at 14%, 

1

4
 at 16% and the remainder at 

20%. If his monthly income is Rs. 561, the capital is 



xUth; jdJ %yjdj;jpd; 1

3
 klq;if 14% tl;bf;Fk;> 1

4  
klq;if 16% 

tl;bf;Fk;> kPjj;njhifia 20% tl;bf;Fk; KjyPL nra;fpwhh;. mjd; %yk; 
mth; khj tUkhdkhf &. 561 ngWfpwhh; vdpy; mth; KjyPL nra;j 
nkhj;j njhif vt;tsT?  
a. 3300     b. 3920  c. 3320              d.  6732  

    
19. A sum of money at simple interest amounts to RS. 815 in 3 years and to Rs. 

854 in 4 years. The sum is 
xU mryhdJ jdptl;bapy; 3 tUlj;jpy; &.815 MfpwJ. mJNt> 4 
tUlj;jpy; &. 854 MfpwJ vd;why;  me;j mry; vt;tsT? 

a. Rs. 650    b. Rs. 690  c. Rs. 698   d. Rs. 700 
 

20. What is the sum, if the simple interest is Rs. 90 at the 6% rate of interest for 
3 years? 

6% tl;b tPjj;jpy; %d;W Mz;LfSf;F jdptl;b &.90 vdpy; mry;  

vt;tsT. 

a. 1000    b. 1500  c. 500    d. 750 

  


